Question: 1

How long will the Security Capability Center update the client-side Huawei security device?

A. 1 month update, immediate update of major events

B. Updated every two weeks, immediate updates of major events
C. is updated once every half week, major half-time update

D. is updated weekly, and major events are updated instantly

Answer: D

802.11ac support bandwidth includes multiple selection

A. 160MHz
B. 40MHz
C. 20MHz
D. 80MHz

Answer: ABCD

The AR G3 router supports FW, IPS, and URL filtering functions. It is opened by purchasing a license.

A. TRUE
B. FALSE

Answer: B

Question: 4

The difference between NGFW and traditional FW is ()

A. After the security functions such as IPS are enabled, the performance can still meet the application
scenarios of large enterprises.

B. Stronger management and control capabilities, enabling access control based on applications and
users

C. More intelligence than traditional FW
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D. greater protection range, deep integration IPS

Answer: ABCD

Huawei's 15 years of sales of the ips product "NGIPS NIP6000" through the agile detection engine to
achieve
the following characteristics

A. Multidimensional correlation analysis
B. Intelligent environment awareness

C. Complete content detection

D. Accurate application identification

Answer: ABCD
Question: 6

The S3700 can support up to () stacking.

A. 16

B. 9

C. 4

D. 12

Answer: B

The following are the features of the USG6000E software (multiple choice)

A. self-developed intrusion prevention, AV engine

B. camera secure access

C. IPSec intelligent routing

D. is comparable to the inherent interface of the switch

Answer: AB
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Question: 8

Which of the following scenarios apply to Network Quality IntelliSense

A. IP network end-to-end measurement scenario
B. End-to-end measurement scenario for MPLS L3VPN network
C. IP network hop-by-hop measurement scenario

Answer: ABC

Question: 9

What is the correct description of the CSS2 of the S127007? (multiple choice)

A. CSS2 is a software clustering technology
B. CSS2 supports cluster master 1+N backup

C. switch that supports CSS2 can be registered and run without a main control board.

D. CSS2 back-to-back cascade through the switching network

Answer: BD

The main competitor of the $12700 in China is the S10500, which can be combined with the S7700.

A. TRUE
B. FALSE

Answer: A
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